Math 1151, Exam #2, Fall 2014 Name Kg\r

Instructions: Show all work. Answers wﬂthout work
an explanation, explain as completely as|

may only receive partial credit. If you are asked for
possible. Use exact answers unless specifically asked to round.
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2. Shown below is the graph of the velocity of a function relative to time., Use this graph to
determine at what time the position reached a maximum. (5 points)

T
7
SV ] I
5—+—— \ — —
velocity 4 -
(m/s) 3 \
/
2 \;‘__/ —\‘
L1/ \
4 AN
0
> .
’1012345678 10 11 12 13
time (s)

fanmtoe v o fose
$=9 o eotlon -
reachtd o map



7. Find the critical points and inflection points of the function y = x2e™*, Develop sign charts for
both the first and second derivatives and use that information to determine whether each
critical point is @ maximum or a minimum. (13 points)
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8. Sketch a curve with the following properties: f' > 0 and f" < 0 for x < 3; and f' <
Oand f" > 0 for x > 3. (7 points)
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3. Find the derivative % for the implicit function e + y2 — x3y + 6x7 = cosx. (8 points)
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4. Use logarithmic differentiation to find the derivatives of the following functions. (8 points each)
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9. Graph the function f(x) = T on its domain. Use pro

{(You may check your results in your calculator, but
support your graph.) (16 points)
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